6.1 Area Between Two Curves
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ex: Find the area enclosed by the given curves.

a) y=e', y=x, x=0, x=1
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ex: Find the area enclosed by the given curves.
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b) y=tanx, y=2cosx, Osxs—
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ex: Find the area enclosed by the given curves.
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ex: Find the area enclosed by the given curves.

i d) f(x)=3x"-x>-10x, g(x)=-x"+x
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ex: Find the area enclosed by the given curves.
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ex: Find the area enclosed by the given curves.

i ) x=4-y°, x=y-2
X | |4 Y
7[o )2 5
3/ e
3/‘/




i ex:

a) Find the area bounded by

3 .
y=X, y=-X +2, y-axis



i ex:

b) Find the area bounded by

3 B
y =X, =-X"+2, X-axis



ex: The line x=p divides the area bounded by y =sinx
on () = x = 7T into 2 regions such that the area from

0 = x = p exceeds the area from p < x < by 1square
umt Findp. -
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5.1, 5.3, 6.1 Extra Practice

P ¥

(Calculator permitted) Let R be the shaded region enclosed by the
graphs of y = e, y= —sin(3x), and the y-axis as shown at right.

Which of the following gives the approximate area of the region R?
(A)1.139  (B)1.445 (C)1.869 (D)2.114  (E)2.340
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5.1, 5.3, 6.1 Extra Practice

B

Let fand g be the functions given by f(x)=¢" and g(x)=l. Which of the following gives the area
x
of the region enclosed by the graphs of fand g between x=1 and x=27

(A) € -e-In2 (B)In2-€% +e¢ (C)ez—% (D)ez—e-% (E)l-lnz
€



5.1, 5.3, 6.1 Extra Practice

6.

Let R be the region in the first quadrant bounded by the x-axis, the graph of x = y2 + 2, and the line
x = 4. Which of the following integrals gives the area of R?

@) f[4—(y’ L)y ® f[(y’ +2)-4ldy  (© _i[4—(y’ +2) |y

(D) _i[(y2 +2)-4ldy  (®) l[4 ~(»? +2) Jay



5.1, 5.3, 6.1 Extra Practice

y

Which of the following gives the area of the region between the graphs of y = x* and y=-x from
x=0to x=3.

9 13 27
(A2 (B) 2 (©) > (D)13  (E) =



5.1, 5.3, 6.1 Extra Practice

1.
What is the area of the region in the first quadrant bounded by the graph of v = ¢*/? and the line x =27
(A) 2¢-2 (B) 2e ©) 5-1 D) £ (E) e~1



